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Chapter 3 Gifted and Enrichment Answers

1. a) The first number can be represented as 21, the second as 32, the third as 43, and the fourth as 54. Therefore, the pattern is consecutive numbers for the base starting with 2 and one less than the consecutive number for the exponent.
b) 65 = 7776
109 = 1 000 000 000

The fifth number in the series is 7776, and the ninth number is 1 000 000 000.
2. a) 34x = (3x)4

= 84

= 4096
b) 3(5x – 1) = (3x)5 ÷ 31

= 85 ÷ 3


= 
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The height of the cylinder is eight times the radius of the cylinder and sphere.

4. Let P represent the population of marmot.

P = 4000(1.03)11
P ≈ 5537
There will be approximately 5537 marmots in 11 years.

5. Let P represent the population of bacteria.
P = 200 000(4)–5
P ≈ 196
There were approximately 196 bacteria 3 h ago.


























































Copyright © 2010, McGraw-Hill Ryerson Limited, a subsidiary of the McGraw-Hill Companies. All rights reserved.
This page may be reproduced for classroom use by the purchaser of this book without the written permission of the publisher.
Copyright © McGraw-Hill Ryerson, 2008

Copyright © McGraw-Hill Ryerson, 2008


_1316337169.unknown

_1316337296.unknown

